

Adı :

Soyadı:

...../...../.....

.....

Toplama ve çıkarma işlemleri arasındaki ilişki-1

$5 + 4 = \text{?}$
$\text{?} + 4 = 9 \rightarrow \dots - \dots = \dots$
$5 + \text{?} = 9 \rightarrow \dots - \dots = \dots$

$2 + 6 = \text{?}$
$\text{?} + 6 = 8 \rightarrow \dots - \dots = \dots$
$2 + \text{?} = 8 \rightarrow \dots - \dots = \dots$

$7 - 3 = \text{?}$
$\text{?} - 3 = 4 \rightarrow \dots + \dots = \dots$
$7 - \text{?} = 4 \rightarrow \dots - \dots = \dots$

$8 - 5 = \text{?}$
$\text{?} - 5 = 3 \rightarrow \dots + \dots = \dots$
$8 - \text{?} = 3 \rightarrow \dots - \dots = \dots$

$4 + 6 = \text{?}$
$\text{?} + 6 = 10 \rightarrow \dots - \dots = \dots$
$4 + \text{?} = 10 \rightarrow \dots - \dots = \dots$

$10 - 8 = \text{?}$
$\text{?} - 8 = 2 \rightarrow \dots + \dots = \dots$
$10 - \text{?} = 2 \rightarrow \dots - \dots = \dots$

$12 - 5 = \text{?}$
$\text{?} - 5 = 7 \rightarrow \dots + \dots = \dots$
$12 - \text{?} = 7 \rightarrow \dots - \dots = \dots$

$9 + 4 = \text{?}$
$\text{?} + 4 = 13 \rightarrow \dots - \dots = \dots$
$9 + \text{?} = 13 \rightarrow \dots - \dots = \dots$

$8 + 7 = \text{?}$
$\text{?} + 7 = 15 \rightarrow \dots - \dots = \dots$
$8 + \text{?} = 15 \rightarrow \dots - \dots = \dots$

$14 - 6 = \text{?}$
$\text{?} - 6 = 8 \rightarrow \dots + \dots = \dots$
$14 - \text{?} = 8 \rightarrow \dots - \dots = \dots$

$17 - 9 = \text{?}$
$\text{?} - 9 = 8 \rightarrow \dots + \dots = \dots$
$17 - \text{?} = 8 \rightarrow \dots - \dots = \dots$

$14 + 5 = \text{?}$
$\text{?} + 5 = 19 \rightarrow \dots - \dots = \dots$
$14 + \text{?} = 19 \rightarrow \dots - \dots = \dots$

